EARAROBEEIERT — 2 N— IBISH —F

2014568220 (B) 1EI&EE4H

Bl =755 5007TF ¥5%3mE (BA) (B & [ml [ imemm) — = @) o 2
[A&4] 1 7 10,000,000 § 2 7% :4,000,000 § 3 3#&:2,500,000 4 3% :1,500,000 3 5 & :1,000,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— UL 32 149, —~7-6- . . BRI (ER
i 6| FLTFLF 22 3 e 1(4_9)8 7-7-6-7 | 34.6| 97.8 | 1 (4_726) s xR,
AR THAANXIN BNy E—IXX =Y Tr—LA
# 5 | BEEHZ 1:50.1 2-2-2-2 [35.3| 92.7 | 2 488 | ATTETE (5EiA)
2|55 | ETLTIL—Ib 55.0 ) () | SAIFIR
L:d—IRaqfO— B:K7&—/—"T7 NI PN
o . o4 | ZHE 1:50. 8-8-8-7 [34.7| 94.7 | 6 474 | BEE (ERH)
3|g|o| A AHT=—> B ES (76) o) | EEF
LixAa1zdr—2 BiAXHREY Y b HET7—L
5 = 4 5 | EEES 1:50.1 4-4-3-3 |35.1| 94.5 | 7 478 | BELEE (ER)
4|78 | XTRNTIT A 57.0 () (o | B ¥5TLyKs5T- 5707
x> ThANAN B:IA > bEa—HY AN=E e
f o= N KHER :50. -3-3- . . 1ERESRE (K
s|1]1|@7—Ens2EK—1 [B] o4 e (/5(;; 2-3-3-3 [ 35.1| 94.5 | 10 <4+568) sl
R:w>Ny&HTr BTN RS ERS
TN o4 | BREX(E 1:50.2 8-8-8-9 |34.9| 93.5 | 4 476 | BE (ER)
6177 HyINKFT 57.0 (7€) ) FHFKT
x> THXANAN B:arH—Fuh pu e}
5 o7 | ENEARE :50.2 5-5-6-5 |35.0| 93.5 | 9 470 | MAILHE ()
i ¢ EIDS 57.0 () ey | OB $ITLy K557 577
LT RIAYTy IR B4 % /T ARXRETa—-T7—L
S . N /9N -10-10- EREE (E#)
8 3| ONUTaAH— 43 e (11510/44) 10-10-10-10{ 34.7 | 91.6 | 5 zg;t i
R:4=/%¥LLy b B:vO%3 A RFE
N 4 5 | SLEFN 1:50.5 1-1-1-1 | 35.8| 85.8 | 8 494 | FNEE— (EH)
9 2 P AAVE ] 57.0 (2 E) (-19) | EHIF—ER
L9125 F149RX B:ILZTLIA—-> A AR
= . 4 o4 | SHEEA 1:50.6 5-5-3-5 |35.5| 87.4 | 3 458 | KIEBEA (BR)
10/8|10| ZA P2XF > 57.0 (172) o | LR
L:T7TxZXexAL B:UXTRKL—K BRR&M LxPr b T7—4
@ 21 L
£y 47.6-35.1
NA> 24 L | 12.5-11.9-12.2-12.8-12.8-12.5-12.0-11.3-11.8
@ I—F—@EBIERL
|S=7r= 2(1,5)8(4,10)6(9,7)-3
Aol=5"= 2,5,1,8(4,10)6(9,7)-3
== 2,5(1,8,10) (4,6) (9,7)3
43—+ — 2,5(1,8) (4,10) (9,6)7,3
[ RN
B Op 6 220M 794K 5-6 310 & 5-6 730M &R 5-6-9 1,800M
# B 6 120/ 6-9 360 B E 66 740M EE 6-5-9 6,390
5 190M 5-9 890M B H 6-5 1,200
9 200H

ABICOVWTRDTEEERROODE. TR LIV,




